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1.  Last year 56 345 people went to watch Arsenal play Manchester United. This was 645 less than 
watched the game this year. How many people watched the game this year? 

 

 

 

 

 

 

2. A school has 376 children in 14 classes. What is the average class size to the nearest whole one? 
 
 
 
 
 
 
 
 
3. I am thinking of a number. When I multiply my number by 8 and then add 6 the answer is 142. 
   What is my number? 
 
 
 
 
 
 
 
 
4. 192 chocolates fit exactly into 24 boxes. How many boxes will I need for 280 chocolates? 
 
 
 
 
 
 

Here are some quite tricky problems. Read them 
carefully to see what you need to do. Write down all 
your working out and what you had to do. 

Working: What calculation did you do to 
find the answer? (1 step) 

Working: What calculation did you do to 
find the answer? (1 step) 

Working: What calculations did you do to 
find the answer? (2 step) 

Working: What calculations did you do to 
find the answer? (2 step) 
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Answers 

  1. 56 990               addition 

  2. 27                     division 

  3. 17                     subtraction then division 

  4. 35                     division then multiplication 

   


